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2022
LOGIC AND PHILOSOPHY
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.
Q. No. 1 carries 1 mark each 1x12 = 12
Q. No. 2 - 13 carry 2 marks each Bx12 = 2
Q. No. 14 - 23 carry 4 marks each 4x10 = 40
Q. No. 24 - 27 carry 6 marks eacl 6x4 = 24

Total =100
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1. Give very short answers : ‘ 4 1x12=12
e 53 Tes fual ¢
(1) What is the ideal of Logic?
o e {52
() Is the conclusion of Analogy certain?
AT P ks =
(c) Give an example of Unscientific Induction.
s ST ot SrieRdl |
(d On which Law is the Quantitative mark of a cause based ?
TR AR o [ RTR esive dfsfe?
() What was the hypothesis with the help of which the ‘Law of
Gravitation’ discovered ?
5 olad oRET TS WP AfeT Faw's Wi w41 2w
)] What is the meaning of the Greek word ‘Ethos’ ?
S =1 ‘Ethos' ud &2
() What, according to Indian Philosophy, is the Supreme and Ultimate
end of human life ?
SRS i A A R 53 &R A o e
() Write the name of the Inductive Method which enables us to proceed
-from cause to effect and effect to cause.
IR o[ T N PR o IRt R R w47t A ARG A Braly |
() Give an example of Secondary Quality.
et werg «fs Szt fa |
() Is Ethics a positive science ?
NfeRmy Reafe R e
32T LOPH [2]

(k)  Who has defined religion in terms of value ?

TR e o[l afT et @i foze

() Which theory of Truth does Naive Realism support ?
1 BRI TOFOR (IO T ANLS T2

2. Give an example of Good Analogy. 2
PPN @51 Swizae |
3. What is ‘"Hypothesis concerning Agent’ ? 2

‘T RTgs o5 Iie @ e

4. Give an example of ‘Plurality of causes’. 2
N PRI GOt Szt
Or/ 7zt
What do you mean by ‘Conjunction of causes’ ? 2
‘IR W el [ g@e
5.  Explain the moral condition of observation. 2
FATFIT (AP HOCH! I 1
Or/ T
State hwo advantages of simple observation. 2

e FSPEeR 7or Rl S I

6.  Give a concrete example of the Joint Method of Agreement and Difference.

2
il ot ORI dareTis @B AT Swizset fran |
7. Mention any two characteristics of Scientific Realism. 2
IS ATRAME Remear 7br iRy
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10.

11.

12.

13.

What do you mean by ‘moral obligation’?
“Wies Aol e [ Ion?
Or/ 72

What is voluntary action?

Otz Tl 1% (T 2

Give a concrete example of Inverse variation.

RefRro T FZARTET B! ABI TR fat |

Why is the idealism of Leibnitz called ‘Pluralistic Idealism’ ?

Or/ 723t
‘Esse Est Percipi’ — What is the meaning of this statement ?

‘wﬁﬁﬁwﬁ'@’?’——ﬂ?zﬁwwf%?

State fwo characteristics of Primary Quality.

I wo 7o) A B

What is ‘Working Hypothesis’?
‘TRt o7w e
Or/ A&

What do you mean by "Vera Cause’ ?

“sfygTe FRe IFE B @2

Why is habitual action considered as an object of moral judgement ?

SOTRS [Fe (es SRR Reae I [ ooy 71 =0
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Or/ Tzt

What is the meaning of ‘intention” in Ethics ? ' 2

TfoRwe wfcamrs o &Fe

14. What is induction? State two differences between deduction and
induction. 2+2=4
el FIE (e 2 oI O SR o™ 757 Sy S 4 |

Or/ M
Write any four characteristics of Unscientific Induction. : 4
| SIS e R G151 (iR T |

15. State the advantages of Experiment. 4
Ao AR TR S I

Or/ Mt
What, according to Aristotle, are the different kinds of cause ? — Discuss
briefly. 4
GRB'TeR WO IR oFT (20! & &2 — A0S e w4t |

16. Write any four characteristics of Naive Realism. 4
e ABIAME Rl 515! W B

17. Explain briefly the nature of ‘Monad’ as depicted by Leibnitz. 4
AT I PR TSI A4S HeE A 90

Or/ 7123t
What is the essence of Berkeley’s Subjective Idealism ? 4
I SIS SRAMS T A [e
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18. Write a brief note on non-moral action. ; . 4
G-ifes AR o 9Bl 5 Gt i |
19. What is ‘Crucial instance’ ? Give an example of crucial instance obtained
by experiment. 2+2=4
59N B 2 AMTITE 5 (BB <51 SR |
20. Write any four definitions of Religion. 4
w8 Rt 561 et |
Or/ %3t
Write four characteristics of Religion. 4
wiq 551 aEy fe
21. What is ‘Practical imperfection’ of the Method of Agreement ? 4
ol 2T ‘IR Sl 62
Or/ 23
Mention two advantages and fwo disadvantages of the Method of
Difference. 2+2=4
IR 2T 77 JRa S 757 SPifRd S 4|
22, ‘Idealism is best expressed in Hegel's Objective Idealism.” — Explain
briefly. 4
QIR NS SR A SR 2 4o, AR — B 1yt =+ |
23. Distinguish between religion and morality. 4
o o (AfeFoi Mo st R w4
Or/ M&
‘Morality is the source of religion’ — Discuss the view. 4
TR i BT — B TG ST |
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What is Scientific Induction ? Mention the characteristics of Scientific

24.
Induction. 2+4=6
@ A I @m?hwﬁﬁwmmmwzﬁn
~ Or/aRw
Define Analogy with an example. Mention its characteristics. 3+3=6
Bt BiEae T ARG et A | 3Ry SR T TR S 9
25. Write a note on ‘Paradox of Induction’. ~ 6
i REIe’' 8oige Gt Bt foral |
Or/ 923t
What do you mean by Experiment ? Describe its characteristics.
1+5=6
oifrel LR R J@e ST WY AR S <
26. What are the stages of Hypothesis ? — Explain with examples. 6
ofow B9 (320! & 6o g TR gt <4 |
Or/ M2
What are the conditions of a legitimate or valid hypothesis ? Explain any
two of them. 2+4=6
WY o 56 g [ &2 30 owR Rceir 75 5% i 4
27. Define the Method of Agreement with concrete examples. State two
advantages of this method. 2+2+2=6
AT TAITR O SRR TR Tige Tt | @B AR 707 ﬁﬁm@*@ww
Or/ A3
Define the Method of Residues with examples. State fwo disadvantages of
this method. 24+2+2=6
a2 ARCTE T RSl 7| ] AT 70 SRR S |
X
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